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Guess Paper – 2011
Class – X
 Subject - Mathematics

       Note;-Attempt all  questions.


1. Construct a triangle ABC with base BC = 4.1 cm, angle ABC = 60o  and side AB= 5cm. Now construct a triangle whose sides are 5/3 times the corresponding sides of ∆ ABC.

2. A and B are two points 400 m apart on a river bank. A temple is situated on the other bank at P which is directly opposite to A. From A, the angle of elevation of the top T of the temple is 45o and from B it is 30o. Calculate the height of the temple to the nearest metre. 

3. Find the abscissa of points whose ordinate is 4 and which are at a distance 5 units from (5, 0).

4. Prove that the lengths of two tangents drawn from an external point to a circle are equal.

5. [image: image2.png]  Use the above theorem to prove the following:                        A

           A circle is touching the side BC of  ∆ ABC at P

           and touching AB and AC produced at Q and R

           respectively.                                                                               B        P         C

           Prove that: AQ = 
[image: image1.wmf]1

2

(Perimeter of ∆ ABC)           
                Q                      R

6. Find two consecutive multiple of three whose product is 270

7. Find the point of trisection of the line-segment joining the points (-3, 4) and (1, -2).

8. Find the ratio in which the line-segment joining the points (-3, 4) and (1, -2) is divided by y-axis

9. A tree breaks due to a storm and the broken part bends so that the top of the tree touché sthe gourd making an angle of 30o with it. The distance between the feet of the tree to the point where the top touches the ground is 9m? Find the height of the tree

10.The sum of the 4th term and 8th term of an AP is 24 and the sum of 6th and 10th term is 44. find the first three terms of AP.


11.A manufacture of TV sets produced 600 sets in the third year and 700 sets in the seventh year. Assuming that the production increases uniformly by a fixed number every year, find:

(i) the production in the first year.

(ii) The production in the tenth year

(iii) The production in first 7 year.
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